Official Gifts Register - RECEIVED - Government and Legislative Council

Hodgman/Gutwein Government

1 November 2019 – 31 October 2020

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
24 Oct 2019	Minister Ferguson	VEC-Shaw Joint Venture	VEC-Shaw long sleeve jacket with embroidered logo and name	\$87	Retained by the recipient
Oct 2019	Former Premier Hodgman	Qantas Airlines	Qantas Lounge Membership	\$540	Retained by the recipient
Oct 2019	Former Premier Hodgman	Virgin Airlines	Virgin Lounge Membership	\$420	Retained by the recipient
6 Nov 2019	Former Premier Hodgman	Mr Xia Limin (Voyage leader of CHINARE 36)	Model of Xuelong 2 Chinese Icebreaker Ship	\$220	Remain Property of the Crown (displayed in the Premier's office)
12 Nov 2019	Former Premier Hodgman	Inclusive Innovations Tasmania	Promotional pack - Sports jacket, Polo top, Cap, Infinity pin	\$300	Remain Property of the Crown
21 Nov 2019	Former Premier Hodgman	Dr Jerome Chappellaz	Institute Polaire Français books by Laurent Ballesta	\$225	To remain property of the Crown
1 Dec 2019	Minister Courtney	Jinglers Creek Vineyard	I × Bottle of Red Wine	\$50	Retained by the recipient
5 Dec 2019	Minister Archer	Tasmanian Theatre Company	Large bunch of flowers	\$80	Retained by the recipient
8 Dec 2019	Minister Courtney	Stan Siejka Launceston Cycling Classic	2 x VIP tickets to the Cycling Classic @ \$200	\$400	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
9 Dec 2019	Minister Rockliff	Allport Library and Museum of Fine Arts	Book: Miss Lily A Portrait of the Artist Curzona Allport by Marian Jameson	\$75	Retained by the recipient
10 Dec 2019	Former Premier Hodgman	Martin Turmine	Old Kempton Distillery Single Malt Whisky 200ml	\$95	Retained by the recipient
17 Dec 2019	Minister Barnett	Cameron Oysters	7 dozen oysters	\$105	Used at the Minister's Stakeholder Xmas drinks
18 Dec 2019	Minister Barnett	Australian Pork Limited	Leg of Ham	\$130	Donated to Grenoch Aged Care Facility
18 Dec 2019	Minister Barnett	Consul General China	Horse print on stand	\$150	Retained by Minister in Minister's Hobart Office
23 Dec 2019	Minister Shelton	Cricket Tasmania	I x ticket to the Chairman's Lounge BBL Match on 30 December 2019 @ \$300	\$300	To be retained by the recipient
24 Dec	Former Premier	Royal Yacht Club of Tasmania	2 × Polo tops \$70 each	\$140	Retained by the recipient (polo tops)
2019	Hodgman		I x Dress shirt \$100	\$100	Dress Shirt to be donated
7 Jan 2020	Former Premier Hodgman	Geoffrey and Robert Hazell	Book: the Story of Hazell Bros – 75 years 1944-2019	\$100	To remain property of the crown
13 Jan 2020	Former Premier Hodgman	South East Tasmanian Aboriginal Corporation	I × Bottle of Willie Smith's MT Sparkling Cider @ \$30	\$57	Retained by the recipient
			Book: The Black War by Nicholas Clements @ \$27		
13 Jan 2020	Former Premier Hodgman	South East Tasmanian Aboriginal Corporation	Aboriginal Clap Sticks & Handmade basket @ \$100 Books × 2	\$137	Remain property of the crown

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
			Bruce Pascoe: Dark Emu @ \$15 and		
			Young Dark Emu, A Truer History by Bruce Pascoe @ \$22		
13 Jan 2020	Minister Archer	Law Society of Tasmania	I × Ticket to the 2020 Legal Profession Dinner to celebrate the opening of the Legal Year @ \$140	\$140	Retained by the recipient
13 Jan 2020	Minister Archer	Cricket Tasmania	2 x Tickets to Chairman's lounge BBL Match Hurricanes vs Scorchers 13/1/20 @ \$300	\$600	Retained by the recipient
14 Jan 2020	Minister Archer	Chinese Community Association of Tasmania	I x Ticket to the CCAT Lunar New Year Dinner 29 January 2020 Wrest Point Convention Centre @ \$80	\$80	Retained by the recipient
15 Jan 2020	Former Premier Hodgman	Tennis Tasmania	2 x Corporate Box hospitality at the Hobart International Tennis Finals @ \$338	\$676	Retained by the recipient
17 Jan 2020	Former Premier Hodgman	Pennicott Cruises	I × Polar Fleece Jacket	\$75	Retained by the recipient
17 Jan 2020	Minister Archer	The Show Company	2 x Premium tickets to the opening night of Mamma Mia at the Theatre Royal @ \$99	\$198	Retained by the recipient
17 Jan 2020	Ministers Rockliff & Jaensch	MONA	I × Adult 3 day Mona Foma ticket @ \$99	\$99	Retained by the recipient
21 Jan 2020	Premier Gutwein	Pentagon Group Hotels	I × Bottle of Whiskey - Hellyer Original Single Malt	\$132	Retained by the recipient
22 Jan 2020	Minister Barnett	Hampson Honey	3 x 1kg containers of honey (2 x leatherwood and 1 x gum) @ \$30	\$90	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
22 Jan 2020	Minister Archer	Tasmanian Theatre Council of Tasmania	2 x Tickets to the Tasmanian Theatre Awards at Wrest Point Casino on 22 February 2020 @ \$110	\$220	Retained by the recipient
29 Jan 2020	Minister Archer	Cricket Tasmania	2 × Tickets to the Chairman's Lounge BBL at Blundstone Arena on 30 January 2020 @ \$300	\$600	Retained by the recipient
30 Jan 2020	Minister Howlett	Cricket Tasmania	2 × Tickets to the Chairman's Lounge BBL at Blundstone Arena @ \$300	\$600	Retained by the recipient
31 Jan 2020	Minister Jaensch	Tennis Australia	2 × Tickets to the Burnie Tennis International Business Luncheon @ \$35	\$70	Retained by the recipient
2 Feb 2020	Minister Jaensch	Tennis Australia	4 × Tickets to the Burnie Tennis International Finals @ \$37.50	\$150	Retained by the recipient
3 Feb 2020	Minister Archer	Tassal	I × Hurricanes BBL Top	\$110	Retained by the recipient
4 Feb 2020	Premier Gutwein	House of Anvers Chocolate Shop	House of Anvers bag of chocolates: Insulated bag - \$5 Dark Fortunato No.4 - \$13.50 Milk Fortunato No.4 - \$13.50 Selection Truffle D'Anvers 250g - \$25 Premium Fruit Collection 125g - \$20 Dark Chocolate covered Macadamias - \$22	\$99	Retained by the recipient
7 Feb 2020	Minister Courtney	Party in the Paddock Vibestown Productions	2 × Tickets to the Party in the Paddock music festival @ \$89.00	\$178	Retained by the recipient
21 Feb 2020	Minister Archer	Ronald Young & Co Builders	Bunch of flowers and company mug	\$110	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
24 Feb 2020	Minister Shelton	Launceston Turf Club (LTC)	2 x Tickets to the Launceston Cup Luncheon @ \$295	\$590	Retained by the recipient
26 Feb 2020	Minister Archer	Strut & Fret Production House	2 x Tickets to the VIP opening of Spiegeltent on 5 March 2020 @ \$62	\$124	Retained by the recipient
26 Feb 2020	Premier Gutwein	Tasmanian Turf Club	2 x Tickets to the Launceston Cup Luncheon @ \$295	\$590	Retained by the recipient
26 Feb 2020	Minister Courtney	Autech	2 x Tickets to the Corporate Marquee at the Launceston Cup @ \$295	\$590	Retained by the recipient
26 Feb 2020	Minister Howlett	Tasmanian Turf Club	3 x Tickets to the Launceston Cup Day Function @ \$295	\$885	Retained by the recipient
27 Feb 2020	Premier Gutwein	Chairman of the Tasmanian Racing Club TRC)	I x Ticket to the Hobart Cup Luncheon	\$310	Retained by the recipient
27 Feb 2020	Premier Gutwein	Turner Stillhouse Distillery	I × Bottle of Three Cuts Gin, pinot barrel rested, batch I	\$100	Retained by the recipient
27 Feb 2020	Premier Gutwein	High Commissioner of Fiji	I x i-Ula (throwing club)	\$230	Remain property of the crown
27 Feb 2020	Minister Howlett	Cricket Tasmania	Framed Personalised Hurricanes Shirt @ \$300 and Personalised Hurricanes Cricket Bat @ \$100	\$400	Retained by the recipient
28 Feb 2020	Premier Gutwein	Tourism Industry Council Tasmania	2 x Tickets to the 2019 Qantas Australian Tourism Awards @ \$242	\$484	Retained by the recipient
28 Feb 2020	Minister Howlett	Collingwood Netball Club	3 x Tickets to the Collingwood Magpies Netball match @ \$70 in Hobart included pre match function	\$210	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
12 Mar 2020	Minister Courtney	Clifford Craig Foundation (CCF)	I x Ticket to the CCF's International Women's Day Luncheon @ \$75	\$75	Retained by the recipient
8 April 2020	Premier Gutwein	Jane Dykstra	6 × Bottles Rhubarb Sparkle @ \$25	\$150	Retained by the recipient
15 April 2020	Premier Gutwein	SSS Sewing and Craft Supplies	Various Diamond Dotz kits	\$133	To be donated to an organisation of the Premier's choice
22 May 2020	Premier Gutwein	Ms Jodie Gaul	Portrait of the Premier	\$450	Retained by the recipient
25 May 2020	Minister Howlett	Robin and David Whishaw	Mystic Journey free standing banner	\$87	Retained by the recipient
25 May 2020	Minister Howlett	Grenville Stud	Book: Stallions 2019	\$187	Retained by the recipient
1 June 2020	Premier Gutwein	Lark Distillery	I × Lark Classic Cask (500ml) signed by Bill Lark - \$169	\$468	To be Retained by the Recipient: Whiskies
			I × Lark Shiraz Cask (500ml) signed by Bill Lark - \$299		
			2 x Lark Glencairn whisky Glasses - \$50 500ml Hand Sanitizer - \$20	\$70	To remain the property of the Crown: Glasses and sanitiser
1 June 2020	Minister Courtney	Lark Distillery	I × Bottle of Forty Spotted Classic - \$73 I × Bottle of Forty Spotted Citrus - \$75	\$148	Retained by the recipient
1 June 2020	Premier Gutwein	Cricket Tasmania	Framed Personalised Hurricanes BBL Jersey - \$300 Personalised Cricket Bat - \$100	\$400	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
4 June 2020	Premier Gutwein	Hobart Properties and Securities	I × Bottle Riversdale Syrah 2018 - \$40 I × Bottle Riversdale Pinot Noir 2017 - \$40	\$80	Retained by the recipient
29 June 2020	Minister Jaensch	Cradle Mountain Visitor Centre	Indigenous clapping sticks – made by local Indigenous artist Hank Horton	\$145	Retained by the recipient
2 July 2020	Minister Howlett	Hobart Chargers Basketball Club	Personalised Hobart Chargers Basketball Top	\$105	Retained by the recipient
14 Aug 2020	Minister Howlett	King Island Racing	I × King Island Cape Wickham Double Brie I × King Island Lighthouse Blue Brie I × Phoques Cove Camembert = 3 × \$12.60 I × King Island Smoked Cheddar = I × \$25	\$63	Retained by the recipient
3 Sep 2020	Minister Archer	Anthony R Hope	Signed book by the author Anthony R Hope 'Short Stories from World War Two'	\$75	Retained by the recipient
21 Sep 2020	Premier Gutwein	John K Cole	2 × Framed pencil drawings by Artist John K Cole	\$300	Retained by the recipient
25 Sep 2020	Minister Jaensch	Master Builders Tasmania	I × Ticket to the Master Builders Tasmania North West Annual Dinner @ \$125	\$125	Retained by the recipient
28 Sep 2020	Premier Gutwein	Drew Paton, son of Mr Ian Paton OAM	I × Bottle of Buckingham Palace Champagne Baron-Fuente Vintage 2011 Brut @ \$80 I × Buckingham Palace Pen @ \$72.50 I × Book 'The Servant Queen' @ \$15.50	\$168	Remain property of the crown
28 Sep 2020	Premier Gutwein	Hobart Chargers	Personalised Hobart Chargers Basketball Top	\$105	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
1 Oct 2020	Premier Gutwein & Minister Howlett	Tasmania JackJumpers	Personalised Tasmania JackJumpers Jersey	\$99	Retained by the recipient
6 Oct 2020	Premier Gutwein	Tasmania JackJumpers	Tasmania JackJumpers Launch Pack: T-Shirt, Cap, Water Bottle, Sticker and 2 x Pins	\$79	To be donated to an organisation of the Premier's choice
l Oct 2020	Ministers Rockliff, Howlett, Jaensch, Archer, Barnett, Courtney	Tasmania JackJumpers	Tasmania JackJumpers Launch Pack: T-Shirt, Cap, Water Bottle, Sticker and 2 x Pins	\$79	Retained by the recipient
15 Oct 2020	Minister Shelton	Tasmania JackJumpers	Tasmania JackJumpers Launch Pack: T-Shirt, Cap, Water Bottle, Sticker and 2 × Pins	\$79	To remain property of the crown
17 Oct 2020	Minister Howlett	Tasmanian Hospitality Association (THA)	2 x tickets to the THA's Caufield Cup Function @ \$100 each	\$200	Retained by the recipient
21 Oct 2020	Minister Howlett	Dunalley Bay Distillery	I x Bottle of Gin	\$55	Retained by the recipient
	Premier Gutwein & Ministers Rockliff, Ferguson, Archer, Barnett, Courtney, Jaensch, Shelton & Howlett	Qantas Airlines	Qantas Lounge Memberships	@ \$540 each	Retained by the recipients
	Premier Gutwein & Ministers Rockliff, Ferguson & Archer	Virgin Airlines	Virgin Lounge Memberships	@ \$420 each	Retained by the recipients